



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(\left(\frac{1}{3}\right)^2 + \frac{1}{6}\right) \times \frac{3}{4} - \left(\frac{1}{2} + \frac{3}{4}\right)^2 =$$

$$\left(\frac{2}{3} - \frac{3}{4}\right)^2 - \frac{1}{6}\left(\frac{2}{5} - \left(\frac{3}{4}\right)^2\right) =$$

$$\left(\frac{1}{2} + \frac{2}{5}\right)^2 + \frac{1}{6}\left(\frac{1}{3} - \left(\frac{2}{5}\right)^2\right) =$$

$$\left(4 - \frac{1}{3}\right)^2 - \frac{1}{3} \times \frac{3}{5} + 3^2 =$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{2}\right) \times \frac{1}{2} + \left(\frac{3}{2} + \frac{1}{3}\right)^2 =$$

$$\left(\frac{1}{2} + \frac{1}{3}\right)^2 - \frac{2}{3}\left(\frac{1}{3} - \frac{1}{5}\right) =$$

$$\left(\left(\frac{2}{3}\right)^2 - \frac{2}{5}\right) \times \frac{1}{4} + \left(\frac{1}{2} + \frac{1}{2}\right)^2 =$$

$$\left(\frac{1}{5} + \frac{1}{4}\right)^2 - \frac{1}{4}\left(\frac{3}{5} - \frac{2}{5}\right) =$$

$$\left(\frac{2}{5} - \frac{1}{2}\right)^2 + \frac{3}{4}\left(\frac{1}{2} + \left(\frac{1}{2}\right)^2\right) =$$

$$\left(4 + \frac{1}{3}\right)^2 + \frac{1}{3} \times \frac{3}{5} \times 3^2 =$$



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(\left(\frac{1}{3}\right)^2 + \frac{1}{6}\right) \times \frac{3}{4} - \left(\frac{1}{2} + \frac{3}{4}\right)^2 = \left(-\frac{65}{48}\right) = \left(-1\frac{17}{48}\right)$$

$$\left(\frac{2}{3} - \frac{3}{4}\right)^2 - \frac{1}{6}\left(\frac{2}{5} - \left(\frac{3}{4}\right)^2\right) = \frac{49}{1440}$$

$$\left(\frac{1}{2} + \frac{2}{5}\right)^2 + \frac{1}{6}\left(\frac{1}{3} - \left(\frac{2}{5}\right)^2\right) = \frac{151}{180}$$

$$\left(4 - \frac{1}{3}\right)^2 - \frac{1}{3} \times \frac{3}{5} + 3^2 = \frac{1001}{45} = 22\frac{11}{45}$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{2}\right) \times \frac{1}{2} + \left(\frac{3}{2} + \frac{1}{3}\right)^2 = \frac{233}{72} = 3\frac{17}{72}$$

$$\left(\frac{1}{2} + \frac{1}{3}\right)^2 - \frac{2}{3}\left(\frac{1}{3} - \frac{1}{5}\right) = \frac{109}{180}$$

$$\left(\left(\frac{2}{3}\right)^2 - \frac{2}{5}\right) \times \frac{1}{4} + \left(\frac{1}{2} + \frac{1}{2}\right)^2 = \frac{91}{90} = 1\frac{1}{90}$$

$$\left(\frac{1}{5} + \frac{1}{4}\right)^2 - \frac{1}{4}\left(\frac{3}{5} - \frac{2}{5}\right) = \frac{61}{400}$$

$$\left(\frac{2}{5} - \frac{1}{2}\right)^2 + \frac{3}{4}\left(\frac{1}{2} + \left(\frac{1}{2}\right)^2\right) = \frac{229}{400}$$

$$\left(4 + \frac{1}{3}\right)^2 + \frac{1}{3} \times \frac{3}{5} \times 3^2 = \frac{926}{45} = 20\frac{26}{45}$$